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Markov Processes on Discrete Graphs
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MARKOV PROCESSES ON GRAPHS 1

1 000000 (Basics of Probability Theory)

oboobooooobooobooboobobooboooboo,obobooobooobooobooon
gb0.jbgobobobooooobob,0ob0oboooooboob0oboboooob. boDbo
gooooboobdobooooobooboobobooo,boboboooooobooboboon,d
ooooboooooooo.

1.1 000000000 (Probability Spaces and Random Variables)

00000,00,000000000 (Q,F P)000,000000000,0000000
0000 X=Xw)OOOOOO (D0)000000O0OO0oooooon.
000 (Q,F,P)00000 (probability space) 0000 OOO0OOOOOOOO.

e QUUDOD (D0 weQODOO)

e F(C2%) D QD0 o000 (o-field); (2°0 QOOO0D0DODO)
(1) QeF
(2) Ace F= A°e F
(B3) A,eF(n=12,...) = JA, €F

e P=Pdw)0OOOO (2,F) 000000 (probability measure), ie, 000 100
0O;P:F—[0,1]000000000DO0.

(1) P(Q2) =1
2) Ape F(n=1,2,...)00000 = P(UA,) = P(4,) (¢ DODO)
0110 ((QFP)0000C0O0O0OOOO,000000000000.

(1) se-000000000O000DO0000O0OO0DOOUOOO. OO,
FOoo-OOODODODOA B A, e FO000000FOOOOOOOOOO

0, ANB, A\B, AAB:=(A\B)U(B\A), ﬁAn.

0000 imA, =limsup A, :== () |J An, lim A, =liminf 4, := ] () 4, € FOO
N>1n>N N>1n>N
oo.

(lim = inf sup, lim =supinf 0000 000.)

(2) P0)=0, ApeF (k=1,2,...,n) 00000 = P(U/_, Ax) =", P(4;) (00ODO

(3) A, BEF,AC B= P(A) < P(B)(0D00O).

4) Ap€F, Ayt =P (U An) = lim P(A,).

n— oo

(5) Ane]-",An¢:>P<ﬂAn): lim P(4,). 000000000000 O0DO0OOO.

n—oo
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6) Ay € F (n>1) = P(UAn) <Y P(4,) (OOD).

(7) (Borel-Cantelli 0O0D0)0 A, € F (n>1), > P(A,) <o =P (hmsup An> =0, i.e,

n—oo

P (liminf A;) -1

n—oo
000000 (Q,FP)000000000X =X(w):Q—RO{X<a}:={we®X(w) <
a} € F("a€eR). 0000000000 (random variable) 000. OO0 X 000000
S={a;};>1 CROODODDOOOO, 00000 {X=q;}eF (Yj>1)000.
X, 00000 (2,F P) 000000000000 (k=1,2,...,n). 0000 {X}}_, OO
0 (independent) 00000

P(Xlgala"'7XnSan):P(Xlgal)"'P(XnSa'n) (vakERakzlw"vn)'

00000 n000000 {Xx}k> 00000000 YN>10000 {X;}Y, 000000
000.00 X, 000000 S={a;};,,» 00000000,000000000000000:

P(X1=b1,~-~ ,Xann)ZP(Xlzbl)P(Xn:bn) (bkES,kZL...,n).

00 pux(A) =P(X € A)0 X 000 (distribution) 000, F(z) = P(X <2)0 X 000
00 (distribution function) 000 .

1.2 000,000 (Expectations, Means)

ooooooo (Q,F,P)000D000 XOOOO (expectation) or 000 (mean) O
EX = F[X] ::/XdP:/X(w)P(dw)
Q

O0000 POUO Lebesgue UO0DODOOO0ODOO0O. OOO0OO0ODOODOOOOOODOOOOO
0000000000,0000 X0 Z:=Zu{+cc}0000000000. 0000000
rxooooooooooo.

(1) X>0000
EX :=)» nP(X =n)+o00-P(X = o).
n=0

(P(X=00)=000 c0-P(X=00)=0000.00 P(X=00)>000 EX =00.)

(2) X00OOOOO Xt:=XV0, X :=(—X)v000O0O (0000 X*>0, X=X"—X"
000 - 0000.) EX:=EX+t-EX-000.00,0-0c0c00000000000
oooo.

000000000000 EX=) nP(X=n)0,00000 f:Z—»RO0O000,000
nez
O Ef(X)=> f(n)P(X=n) 00000, (000000000 Y O Y 0000
neZ nf(n)>0  mif(n)<0
oooo.)

0000 XO0O000,00000 V(X):=E[(X —EX)? =E[X? - (EX)?00000 (0
000000000). 0000 (EX)2<E[X!00000.
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00 1.1 (Chebichev 0000) 0 p>1000. 0000 Ye>0000,
B[ X7]
ar

[00]0 P(X|>a)=P(XP>ae’) 00 p=100000000.

P(|X]|>a) <

EIX|=) nP(X|=n)>)Y nP(X|=n)>a) P(X|=n)=aP(X|>a).

n>1 n>a n>a

00 120X,....X,0 Z000D000000000, E[X2 <oo(k=1,...,n)000.
0000 Xy,...,X, 00000, E[X,;Xs] = E[X,]E[Xs] (j#k). 00000 E[X,]=000

[00]0 (1)j#k0000000 P(X; =m, Xg=n)=P(X; =m)P(Xz=n) 00

3

2)000 <Zxk> ZXk+ZX X, 0 ()00 j#k00 E[X;Xi] = E[X;]E[X}] =
k=1 j#k
00000O0000O0O. n

1.3 00000 (LLN=Law of Large Numbers)

000000,00000000000000000000 1/200000000000000
0.000000000000000000,0000 1000000000000000000
ooo.

0000000 »0000000000,000 X,=1,000 X,=00000.00000
0000 BEX,=1/2(0000000 V(X,)=1/2000). 0000 2000000,000

gboobooaooo *ZXkD 0000000000 n—oo000,00000 1/2000

k=1
oobooboooooa.

00 1.3 (000000 (Weak Law of Large Numbers)) 0 X;,X,,... 0000000
0000000 EX,=mO000000 v:=sup,V(X,) <ococOOOUOOOOODODOOOO

000 >00000,
lim P lznjx >e| =0, i lim P lzn:X <el|l=1
nl_}II;O o 2 E—m e =0, 1e., TLLII;O " 2 E—m e =1.

[00]O0{X,) 00000000 {X,=X,-m}000000 (0000). 000

n

1 & 1
E;X’f—m:ﬁz(‘xk_m)

k=1
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00,X,00000 X,00000000000000 m=0,ie, E[X,]=00000000
000 V(X,)=E[X20,00000

n 2 n
<2Xk> ZEXk = V(X <nsupV( ) = nv.
k=1 k=1

k=1
>6)

D00 Ye>00000,
p(|tsx
nk:l *

e2n?

1

~
N\
i

. n) _ Bl(Ci X))

-5 =—5—0 (n—o0).

ggboobobbooboa,bobooboaobodab.ooboobooobg.

00 1.4 (000000 (Strong Law of Large Numbers)) 0 X;,X,,... 000000
00000000 EX,=m000000 v:=sup,V(X,) <ocoOOUOOODOODOODOOOO

0Dooo
Ll
P<nlin;onZXk_m>_1.
k=1
00 1.1 0000,000000000000,000000.
R
P<nll)n;on;(Xk—EXk)_0> =1

00000000000000000,0000000000000000000. 00000
000000000000000000000.
[supE[X! <oco 0000000 1.4000]0 X, 00000 X,-mOO000000000
4

m=0,1e, F[X,)=000000000000 (ZXk> gboooooobobooooo

000 0,000 E[X? < (EXY)Y/2000000

(;Xk> = E[XZL] + Z E[XE]E[XJZ} <n? Sl;pE[X,‘i]

k=1 i#4,1<i,j<n

000000000000 (or Fubini 000) 0000

Z( Zxk> :i%E (Zn:Xk> gi;s%pE[X;fkoo

n=1 n=1
1n
DDDDDDDP(limng())lDDDDDD |
n~>oonk:

gobooboobboob,obbooboobooboo,bboboboobooboobon.



MARKOV PROCESSES ON GRAPHS 5

00 1.5 (CLT) 000000 {X,} 000000 (independent identically distributed =
1 n
iid) 000. 00000 EX;=m, 000 V(X)) =00000 —=)» (X,—m) 00000
Vg
00,00 000000 N(,0)00000,ie,000 a<b000,
lim P LS (x b L (M2
1im a < — —-—m) < = — e 2vdzx.
Jim 7 2= m) m/

1 n
goooono, — Xy — goooobo o, 00 10oo0booo NOo,)yooooo
7\/7%;( k m) ) (7) )

000,00000000000000000000.B8'=BRY)0 100 BorelDOOOODO.
000000 Xi,...,X,000,X =(X;,...,X,)000,0000000 px(Aix---xA4,) =
P(X1€Ay,..., X, €A,) (A, eB)y00000.

00 1.6 0000000 Xy,...,X, 00000, X =(X,,...,X,) 000,
px =Qux, ie, px(Arx-xAy)=px, (A1) px, (An).
=1
goooono (—oo,a]DDDEIDDDDD cO00D00 BlOOOODOODOOODOOOO.
00 1.7 000000 X,YOOOOO, 00 Borel 00 f(z,y) 00O,
El(X,Y)] = E [E[f (2. Y )lo—x] = E (X, 9)]ly—v].
gooooooooooa,
/ F@s )i (de, dy) = / F () (de )y (dy)
R?2 R?2
goooo,0oboooooon.
011 000000 X, yooooo,

PX<Y)= /RP(a? < Y)ux(dz).
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2 0000000000 (Discrete-time Markov Chains)

oboooboooooboooboooooboooobooboooboooboobo,0oobooobooon
gobooooobooboooboobobooooobobooo.

2.1 00000 (Basic Examples)

gboboooocooobobo,0bob0oboooooobob,0cobob0obooooon
gboooobo.booooobooooboooooobo,boo,0co0booo0o 20b0000.0000,0
gboboooooboboooboobo. 0oooboobobooooboobooboobooobooboOo,0boon
gboo,0o00b0booboobooboooobooog.

021000 200000000000 (random walk) (X,,P) 0,00 00,00 O
000O00000;X,=0.0<p<1000,0010,+1000 pO000000,-1000
¢=1-p0000000.000000,00 000 20000000 n+10,z+1000
p0,z-1000 ¢00000O0O;

PXppi=z+1|X,=2)=p, PXpp1=2—-1|X,=2)=q.

b n0b0000O00O0O0O0O0,00.0000000000,000000000000000
g.00o0booooooobooooooon.

2000,0000-000000 (BGWorGW 00)0000000000O0ODOODOOO
000000, Bienaymé, Galton, Watson 0 3 000000000000000ODOCO,10
gbobooooobooooobooog.

0 22 00000000000,0000-000000 (Bienaymé-Galton-Watson pro-
cess) (Z,,P)00,0000000,0000Y000000O0000O0O0O0OO. O0O0,YOOO
00 k=0,1,2,... 000,P(Y =k)=p, 0000000 (p, 0000, pr >0, pp=100
00). Zz, 00 nO0OOOOOO0OODO. 0000000 10000000 %4,=1.00000
000000 yooooooooooooooooo.0oo00oooo,0000ooooooon
00o0o0oo0oo,000000 m=Ykp, 00O0ODDOOOODOOO.

2.2 00000000000 (Time Homogeneous Markov Chain)

gbooooboooooa.

00 21 00000 SO0000O0O0OO000O0DOOoOoO00ODOoOOO0O0DOD,00oOoDoO
gboooooaon.

gbooooooboobobo,0b0oboobooooooobo,oboobob0obooooon
gbooooooooobo,b0coobooobooooooobooobooooobo. cooooo,oo
obobooooobooboooboobooog.

bomoboobomoooboo@moobo@mooono
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gooooooo,0oboooboo,oobbooboboooooo,obooooobooboboOoobo
gbooboo,0obooobooboobooobooboooobooobooooooboooboooboaoon
gboboooooboobooobO. oooobobooooooon.

S00000000,5000000000 (X,,P) = (X,(w), P(dw)) (n=0,1,2,...) 000
00000000000 (Markov Chain) 000

(M1) [00O000] n>1,70,1,....jn,k€SO00,

P(Xpi1 =k | Xo=Jo, X1 =J1,-- -, Xpn = jn) = P(Xpj1 =k | Xp, = jn).

gbooooboooooooboooobooboooboooboon.

(M2) [D00O0O00] n>1,5,keS000,

PXnp1=k|Xy=j)=PX1=k|Xo=j) (= q(,k) 00D0).

gboobooboobooboobooboooooobooobooooooobooboooboooo, o
gboooobooooobooboooogon.

XoOOO p=A{u}; pj =PXo=34) 00000 (initial distribution) 000, 00,00
jesSooo,P(Xo=4)=100000 PO P,000,(X,,P;) 0 jO00000000000
000. (000 P(Xo=4)>0000,P():=P(-|Xo=4)000000000000000,
00000oO0o0ooUoooooooooooonoy

n>0,5,keS000, ¢u(k)=PXn=Fk|Xo=75) 000, Qn=(u(j,k)) 0 n 0000
0O (O00) (n-step transition probability (matrix)), 00, Q: 0 Q= (q(j,k)) 000,00,
0oOooD(QO)Doo.

gz2100000.

() ¢n(G: k) =0, 2ok an (G k) =1 (5 € ),
(ll) n > 1aj07j17"'ajn eSooono

P(Xo =jo, X1 =J1,---, X0 = Jn) = 14joq(Jo, 1) - - q(Un—1,Jn)>
() M7 > 1, 1y ey s Koy K1y k€S 0000

P(XnJrl :jl7~-~aXn+m:jm|X0:kOaXl :kla---7Xn :kn)

= q(kn,J1)q(j1,J2) - @(Gm—1,Jm)-
(IV)QOZI:((SJIC) (DDDD)aQn:Qn (’ﬂ,Zl),DD,§]k:1(j:k),:0(]7ék)
022000000 p={p;} 00000 X, 0000000000000000.

P(X, =k) = 1ian(s, k)-
jeSs

0,jeSO000000 (recurrence time): 7; 0O0000O00O:

T; =inf{n > 1; X, = j} (=00 if {-} =0).
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e ;0000 (recurrent) &L Pi(T; < o0) =1,

e 0000 (transient) PLN Pi(T; < o00) <1

ooooo.
000 ;0000 (r000)00 (X,) 0000 (r000)000000

000000 {X,} 00000000 Q= (¢(j,k)) 000 (irreducible) 10000000
j,k000,00 n>10000,¢.(,k)>0000000000.000,000000000
0000000,000000000000000000C0C0O0O. (000000000000,
0000000000000,0000000000000000000.)

gboooobooooboobooooboo,booooboooooa:

00 220 j,keSO0O0O.
(i)jDDDDDDDDDDDDDDDDDDD:

}:%JJ

b) GX}D]DDDDDD):LD
(i) j0ODD0000000000000000:

2:%JJ < o0,

b) P qX}DJDDDDDD):Q
(i) {X,} 000000000000,0000,000000000000

00 (i), ()0 b)000000,0000 00000, @Gi)0000000000
00000D0000000002000000.
0 O0-10mn>1,41,... 4m ko k1,....kn €S 0000

P(Xpi1=1J1,-, Xngm = Jm | Xo =ko, X1 =k1,..., Xy = kp)
:P(Xn_H =71, Xntm = Jm | X, :kn).

0 0-20000 {B}r_,000000,00 A COO0O0,P(A|By)=PA|C)(1<k<n)
0000000000.0000 PA|UBy=PA|C)0000000000.

00 210 (G)jeS000000 P({X,}0 ;000000 )=1.
(i) jeSOO00D0O P({X,}0 ;000000 )=0.

00000000000 000000. 0000000,0000000000 1000,10
0000000000000, 000000000000000000000. 00000000
0000 1000000000000000000,000 00000.

mO000 ;000000 77" 000.

T =T,

J 7

(m) _ (m—1), — (= : —
;™ = min{n > T} ; Xn =j} (=00 if {-}=0).
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00 P(T{™ < o0)=Pj(T; <co)® 000. 000 5¢000,00000000000000
0o,
(m) _ m=1) _ o\ _ p(7 —
PyT™ = s+t | T = 5) = Py(Ty = 1)
0000 (00, [00)= P(Xeps =5, Xeru 5 1 <u<t—1) | T =5) 0, {X, #j} =
Ur,esiziiXu =k} O {T"Y =5} 0 {X1,...,X,(=4)} 000000000000000
00,00 2000 0-1,0-20000000.) 000 P(ANB)=P(B|A)P(A) 00O

P =5, T = s+ 1) = PT" Y = s) Py (T = 1)

ogod. oo
P(T™ <o) = BTV <T™ < )
= Z ZP T7im= 1)_5T()—s+t)
s=m—1t=1

= PyT" Y < o00) (T < o)
00, P(T™ < 00) = Pj(T; < 0o)™ 0000. 0000

P({X,})0jO000000) = ﬂ{T < o0})

= lim P(T( )<oo)

m—» 00

= lim Pj(T; < o)™

m—r 00
[II:II]Pj(Tj<oo):1DDI,DDDDDDDODDD. |
000, 00ddo0oobO0o0oogooooooooogoooooog. 4,ke SO0O0O,
Fn(G k) == Pj(Ty =m) (m >1) 000

ij an .75 s" | | < l)a ij(S) = Z f’rn(.ja k)sm (‘S‘ S 1)
m=1

000.000 D {@n(3, k) }n>0: {fm(J, k) }m>1 OO OO (generating functions) 00 0.

lim Qji(s) an k) 0 Fip(1) = Py(T, < 00) DO00ODO.
00 2104,keSO00,000000:

(3 k) = Y fn(GK)an—m (R k) (n21),  Qji(s) = djn + Fjn(s)Qua(s)  (Is| < 1).

m=1

000 {Ty=m}={Xmn=k,Xs#k(1<s<m-1)}00000

Zf](k G (K, k) (T = m)Py(Xn =k | Xpn = k)
m=1

Il
(]
iy~

m=1

= Y BT =m)Py(X, = k| Ty = m)
m=1

= Y Pi(Xn=kTi=m)
m=1

= Pi(Xn=k)
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00000000 (Dooooooo ii:ii 0)

1m=1 m=1n=m

oo

Qju(s) = Gjn+ > anlj k)s
n=1

= 5jk + Z Z fm(ja k)‘]n—m(kv k)sn

n=1m=1

= 5jk + ij(S)Qkk(S).

00 220;€500000 < Y alj,j) =
n=0

000000000 Q;(s)(1—Fj(s)=1(]s|<1) 0000000 Fj;(1) = Py(T; < o0) O

hm Qj] Z qn ] ]

00000 st10000000. (bO0DOoooOoUooooO:

anjj )1 = Pj(T; < 0)) = 1.

0000 Py(T;<o0) =100 Y gulj,j) =00, P(Tj <00) <100 > gn(j,j) < 0.) n
n=0 n=0

023000000000 j#k000000000000

j€S000 = Y gu(k,j)<oo ("keS)
n=0

D00.(00,0000:[PkeS; ) guk,j)=o00 = j: 000]00000))

n=0
n an(k;3) = Fij(1) X2, 40(5,5) BODOD )
00 2.20,;0000000 j—k[ie, ™n; ¢u(j,k) >0 00 Pu(Tj < c0) = 1.
ooooo,0004,jesSoooo,000ooo.
Pi(Tj <o0) =q(i, )+ > qli,k)Pe(Tj < o).

keS;k#j
(00,00000000000000 [0, P(A|B) =PA|Bn{X,=14})(—»000.) 0]
PZ(T]:n|X1zk):P(T]:n\onz,Xl:k):P(TJ:n|X1:k)=Pk(TJ:n—l)D,
0000 P(Xy =k Tj=n)=q(i,k)P(Tj =n—1) 000

Pi(T; < o) ZZP Xi=kTj=n)=P(X1=4)+ Y > P(X1=kT;=n)
n=1kes n=2 k#j
0000000000000)
0,000 ¢u(j,k) >000 (ky,..., kno1); q(G, k1)q(kr, k2)q(ka, ks) - - q(kn—1,k) > 00000
0000000,i=40000 000000, %;q(j,k)>0000, Py(T; <co)=10000.
k=k 000,000000 i=k 000,k=ky 000, qlk1, ko) >000, Pry(T; <o0) =1
0000.00000000,00000. n
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024 00002300000000000000000O0O0:

jO00,00 5=k = Y qu(kj)=oc.

n=0

jkeSO000j—k00k—, 000 jekOODO.

00 230 4,keS;j«<k000,;0000,00000000000FrO00D0DO. OO
o,000o00oboooobobo,obooooobooog.

000000 j«k00,%m>0;q(,k) >0,¢,(kj)>0. 00

Qvmtn(G:) Z 0e(G k) an (k, k)gm (K, §)  (n = 0)

oo

Qjj(s) = an(j,j)s” > ZCIZ+m+n(j7j)5”m+n > S 04, k) gm (K, 5)Qri(s)-

n=0 n=0

gooboboDb j0000non
E%?ij(s):an(j,j)<oo
n=0

0,0000000 ) gu(kk)<ocoOO0O0,k0000000.,5k000000000000.

n=0

00 2.1 0000 23,240000000000000000000000
e 00ODOO Y,keSOODO,Y, qu(j, k) = oco.
e 00000 Y,keSOODO,Y, qu(j, k) < co.

00,00 j,keS000,Y,¢.(j,k) 00000000000,0000000000.

23 40000000000 (d-dimensional Random Walks)

S=2(5j=(j,...,j)) 000,000d0000 (lattice)000. OO {pp}reze O
pr>0,p,=1000000 Z¢0000 (distribution) 000 .

00 210 (X,,P)0d0O000O00O0000 (d-dim. random walk) 00, {p;}reze O
720000000, {Xo, X1—Xo,Xo—X1,...} 0000, P(Xy—Xpo1=k) =pr (n > 1,k € Z9)
000000000 (1 0000 {p} 000000D000000000). OO0 |kl =100
kez!DO0,p,=1/(2d) 0000000000000 (simple random walk) 000, 00
O k= (ki,...,ka), |k = VKT + -+ k2.

000 Pj(Xy =k,....Xp =kn) :=P(Xy =ky,.... X, =k, | Xo=4)0 P, 00000
(Xn,P;)0 00000 0000000000000,
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00 2.2000000 P(A|B):=P(ANB)/P(B)0 P(B)>000000000000
00000000000000000000.

0000 A,BeFOOO < P(A|B)=P(4) 000
000,d00000000000000000000. 000000000 Q = (¢(j, k) O
q(j,k)=p,_, 00000.0000000000000O0O0O0.

0250000000000, [00000,000000,0000,000]

0 2.5 00 (XmP)D dOO0OO0O0O0O0O0OO0OoOoon.
(1) Xni1— X 0 (Xo,X1,...,X,) 00000000000, ie,
P(Xn41—Xn =5, Xo=ko, X1 =k1,..., X = ky)
= P(Xpp1 — X = )P(Xo = ko, X1 = k1, vy X = k).

00 ko, ki,...,kn1 €29 0000000000, Xp41—X, 0 X, 000000000
oQ.

(2) P(Xn+1 :j|X0:k‘0,X1 :kl,...,Xn:kn):P(Xn+1 :j|Xn:kn):pjfkn goo.
0000 {X,}00000000000000, ¢(j,k) =px—; 000

(3) 000000D0000000000000000. (lj — k| :=|j1—kil+-+ |ja— ke O
000 j#kj=k0000000).)

000,00 Q=(q(j,k)=(p,;) 0000,000,00000000000000000.
0000000000 0000000,0000000000000000000000000
ooo:

00 2304d0000000000000
(1) d=1,200000 (ie., PJ(T; <o0)) 000,

(2) d>300000000.

gboo 3000o0ooooa.

0000000O000o0o000oOoOo00Ooo0oo0OO00g,q,(0,000 nOODOOOOOOOO
000000000. 0000000000000 000000n, ge.s1(0,0)=00,0000
¢,(0,000000000000. 0000000, (DO0DO0OO0DOO0DO0ODDOODOUOOUODOO 2.2
oooooooo.)

00 240 Jd00000000000000000 Q@=(¢(4,k))D00OOO

(1) d=1,2000 n— 0o OO

1)y (d=

0,0) ~ 1
00y (a=2)

000 an~by (n—00) <5 a,/by =1 (n—o00) 000,
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(2) d=300000000 cooon
320(0,0) < Cn™%/2,

026 000000000000 {a,}, {b,} 000, ay ~b, (n—o00) 00 Fep, e > 0;¢1b, <
a, <cb, ("n>1)000000000.
00 23 000,000,00000000000: (d=300000 /(3/7)3/4)

G2, (0,0) ~ 21*ddd/2(7m)*d/2 (n — 00).

gbooooboooboooboooog.

[000000000 (Stirling’s formula)] O n! ~ /270" t/2e ™ (n — o).

ud 24000
d=10000000000O0000000,0b0obobOOobDOobDooboOon:

q2n(0,0) = <2:) 272" ~ \/% (n — o).

d=20000

moo= 5 SEen= ()% ()

J,k>0;j+k=n Jj=
n 2
2
0,000 Z(n) (”)DDDDD 1000000000.
= k n

d=30000

2n(0,0) = > _@0l

i elm!)2

7,k,m>0;7+k4+m=n (jkm)
0,30000000
(2n)!n—2n
q2n(070)§cn7|3 6
n.
000. 000 ¢ = Maxj jm>0,j4ktm=n(jk!m))"1 000. 00000 ¢, 000,00000
00000,000000000000000000000.
(2.1) en < 3"F3/2p =320 (¢>00 n>10000000).
00,n0300000000000000000

(m!)=3 (n =3m)
(2.2) Cn <8 (mH)H(m+1HY (n=3m+1)
(mH Y ((m+1))"2 (n=3m+2)
goodo,bbbbo0oooobob,bddd a,ee>000000
Clnn+1/26—nSn!§02nn+1/2e—n
gooooooooboooooo. |
02701000 2000000000000000000000O00OO.

0280000 (22)000,000000 (21)000,4=3000 (00)00000.
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24 0000-000000 (Galton-Watson Process)

Galton-Watson 0 000, 0000000000000 ODO0ODOODOODOO. 0 nO0O0ODOODOO
0z,€Z,={0,1,2,...} 000. 00000000O00O0OOOODOO, Zo=1000.000
gooobobOOdob vyoooooboobobobob. oo vyo z, oobooobooooooo
(pk)k>0 000000, ie, PY=k)=p, (k>0)0000 {£,}0000000000,00
goooooooon:

p(i,§) = P(Zni1 =34 | Zn=i)=P()_ Ve =j) (i>1,j>0).
k=1
000 {y,} 000 (pp) OOODOOOODDOOODOOOO.OOOO Z,=00000,00000
goooooo
p(0,i) =0 (i >1), p(0,0)=1

0000.00000000 (pp) D00, 000000000000000DO.
m::Zk‘pke(O,oo).
k=1

O0,¢0 100000000 GWOOOODoOooooooog,

P(OO | Zy=1)=PCPn>1;Z,=0]|Zy=1)
S POO|Y=kPY=k=>Y ¢p.

k>0 k>0

<
I

000.0000¢=100000000000000,¢€[0,)000000000D000O0OO
gboooobooobooboboooobooon.

flo)=Els" 1= ms* (s <1).
k=0

00000 |s|<1000000,000 |sj<10000000000000O0. 00

FO)=po, f)=1, f(1)=D kpp=m.

E>1

00 24 0GWUOO {Z,}00000OO:

m<lorm=1,p0>0 = P('n>1|Zy=1)=0, ie,q=1
m>1 = P"m>1|Zy=1)>0, ie,q<1

0000000 ¢Om>1000000 f(s)=s00,1)000000000000OO.

00 240 () p=00000000000000000 ¢=0(000m>1).00
pr=100 m=100 ¢g=0.
(ii)ym=1000,po>000 po+p1 <1000.00,00 pp+p1p=10000 m<10O
gpoooog.
(i) m>100 pop+p1 <1l(pp+p1 =100 m<100000).
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00,00000 A()=P(|%2=1)00000000.0000000 F 000.000
00000000 0ooo0.o00o fO00, A=f, fari=fofu(n>1)00000O0.

00 250nr>1000,% =1000000,%,00000 f, 000, ie, E[s%] =
fn(s).

000 gn(s) = E1[s%] = X2y s*P(Z, =k) 00D0. n=1000 {Z=1}000 2,0 Y
0000000,0000 g(s)=E[s¥]=f(s). n>1000,¢,=f,00000. {Z, =k}
000 Z,., 0000 YF,v0000,{v}0000 YOOOOOOOOOOO

k k
Bls | 2, = k) = B[] | 2, = k) = [] Bl = £(5)".

000
i1 (s) = D Bls% | Z, = K] Py = F(8) Pi(Zn = k) = gu(f(5)-
k=0 k=0
00000000, gur1(s) = gu(f(5) = fu(£(8) = fari(s). u

00 2.6 O Ey[Z,) =m" (n>0).

000 m=E[Y]=FE\Z]0 E[Z, | Zo1=k =B}, Vil=km 00000,

Ei[Zn) = ElZn| Zn-1 =kPi(Zn1=k) =D kmPi(Zy1 = k) =mE1[Z, 1],
k>1 k>1
00000000 EiZ,)=mt 1Bz =m*D000. ]
(00 2.4000]

P 000 Z, 00000 f, 00000000, P(Z,=0)=/f000000.{Z,=0}1

oooooo,
¢=P(Cn>12,=0)=P(|J{Z, =0}) = lim f.(0).
n>1

000 f,1100)=f(fu(0) 00, n—o00 0000, f000000,¢q=f(q)0000.

(m<1000)0 P(Z,>1)<E\[Z,)=m"00,{Z,>1}, 00000,

0= lim P(Z, > 1) =P([{Zn21}) =P("n>1,Z,>1) ie,q=1
n—oo
n>1

(m=1000)00000000 24 (i) 0000000 po>0000p+p <100,
Gk>2pp>000000,

:Zk‘pksk71<f’(1):2kpk:m:1 (0<s<1).
k>1 k>1
00000000 se(0,1) 000, 3ce (s,1): f(1) — f(s) = f'(e)(1—s) <1—s. f(1)=10
0,00, f(s)>s(0<s<1)000.000 f(0)=po>0000, f(s)=s000000 [0,1]
o s=100000.00 g=1.
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(m>1000)0 po+p1<100000 (OO0 24 (iii)). f/(1)=m>10 £ 000000
I>01-n<Vs<1,1<f(s)< f(1)=

(0000000D0000000000000,0000000000).0001-7<s<10
O f(s)<s. 00 f(0)=po>0000,¢9(s)=f(s)—s000000000D0D000DOOODO
0,351 €[0,1);f(s1) =s;. 0000000000, OO sy € [0,1);81 < 82, f(82) = 520 00
00,g(s;) =00,00 f(1)=100,¢(1)=0. 0000000,0<s; <3¢ <s9< 3 <
Lg'(§1) =9¢'(§&2) =0, ie, f'(&1) = f'(§&2)=1. 00, po+p1 <100,

€(0,1)0 =0 f"(s) =Y _k(k—ps*? > 0.
k>2

0000 f(s)0 s€(0,1) 00000000000, 00 f(&)=f(&)=100000. 00
f(s)=s000 g=s10rq=100000.000 ¢q=10000 1=¢g=lim,,0 f»(0) 00,
n>1(000)00, fa(0)>1 -7 000000000 furi(0) = £(fo(0)) < £2(0) DO D, fu
0 (r0000)0000000000000. 000 g=s;€[0,1). n

0230p=p=1/2000,00,00000,000 20000,000000000
00000000000, 000 m=100,0000000000000000.

0O 2.4 0 Lotka (1939) DOOU0OO0O0OOUOOOO0OOOODOOUOODOOOUOOOOOOO.

k—1
P(Y:O):%, P(Y_k:)_;(§> (k>1).

ggoo

000,0000 ¢O
k—1
1,1 3, 11 1
- sS4z F000,026% — s 4 =
s 3 5;() 55 "ttt

000 10000000000000. 000000 s=5/6,1000,¢=5/6000.000
0o0o0ooooooooo 1/6000.

02900000,00m=5/40000 s=f(s)00 s=5/6,10000000000.
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3 00000D0O0D00O0 (Continuous-time Markov Chain)

t>00000000000000000,0000 SOOD0OOOOOOOOO (ooo)
(Xt)tzoDDDDDDDDDDDDDDDD,DDDDDDDDDDDDDDD.
$,6>0,4,5,ky, €S,0<up<s ((<ly) 000,

P<Xt+S:j|XS:i7Xug:kug (ESEO)):P(Xt+S:]|X5:Z)
gooobboo,ogobobbbooooooooo.
P(Xpps =7 | Xy =i) = P(X; = j | Xo = ).

0000000 ¢G,j)=P(Xy=j|Xo=¢)000000,0000000000000000
gbogbgooboobgooog.

3.1 0000 (Exponential Times)

ggboaboabooob,oobgobuodoboobbooboob,gobooboaan
00000000000 0o0oU0O0o0. 000000000 (=000000000O0O0O0OO0)O
ooog.

00 3.1 000 «>0000,0000 T=T(w)OOOOUOD «O00O0O0OODOOO OO
P(T>t):/ ae”*ds = e
t

O000000000.00 700000 f(s)=ae » 00000000O0DOOOOO.O0OOO
07000 0000 or D000 (exponential time) 00 000000.

gobgoooboboboobooboob,obbooboo.

> 1
E[T] = / ase” Yds =
0

a a
0 3.10000000000000.

00 3.1 0T7T0000000,000000 (memoryless property) D00 .
ts>0000,
PT>t+s|T>s)=P(T>t).

goo
P(T>t+s) e (t+s)

PT>t+s|T>s)= PT>s) o

=e = P(T >t).

00320 T,T5,...T, 0000, 0000 a,a,...,ap 0000000
min{7y,Ts,...T,} 0 ag +as+---+,-0000000. 000

)

A

P(min{Tl,Tg,...Tn}:Tk)Za1+a2+...+a .
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00000000 n=2k=1000000.
P(min{Ty, Ty} > t) = P(Ty > t,Ty > t) = P(Ty > t)P(Ty > t) = e~ (ta2)t,
00 7,7, 000000,00000,0000000000000000

P(min{Tl,Tg} = Tl) = P(Tl < TQ)
)
- / dsane™ P (s < Ty)
0

oo
= / dsae” ‘e 28
0

aq
a1 + oo

gbooooooobooo. [ ]

0310A0BOOOOOOOOOO0OO0OO0OOO,A00O0O0O0OODODODD 100
o0o0,BO0O0O0O0OODOCOOOO 2-0000000000.0000000000,000D0RO
gbooo,b0o00ocoboobooocobo0o. booocoboooboooooboobooooooooboon
oo.

0000o0o00oU0oo0o0o0oo0O0UoonD -0oo00oouoo0o,000o0o 1/3000.

3.2 0000000 (Poisson Process)

gogbooobobooboo,boboobooboobooboobooobon.

00 320Xx>0000,0000 (Xy)»00O0O000 AOOOODOODOOODOOOO
0000000000 (00 A»O00D00oooooon).

(1) X9 =0,
(2) 0<s<tO0O0 X,—X, 000000 At—s)00000000000.00,

) A )"

P(X,—X,=k)=c¢ o (k=0,1,2,...).
(3) X, 00000000,
00,0<t; <ty<---<t, 000, Xy, Xp, — Xuy,.... Xy, —X,,_, 000.

o0 31 000000o00bo0boooooboooboooa.
gbooooboooooooa.

0 320000000000 SOOO0O0O0  o0ODOOOOU0ODOOOOO0,0000O0DOO
g,gboooooobooooboooboon.
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00 X, 00000000000000. 0<¢ <ty <--<tp <ty 000, Xy, Xy, —

'7th)

Xy, Xe,,, — X, 00000000,00000000000, X,,,, —Xe, O (X, ..
oooo, Xy, — X, 0 Xy, 0000O00O00O. 0000 00000000,
P(th+1:jn+1|th:jk70§k§n) = Pth+1_th:jnJrl_jn|th:jk»0§k§n)

th+1 - th = jn+1 - jn)

th+1 - th = .]71"1‘1 _-]n | th :-]n)

00 3.2(0000000O0O0O0O) Oo0y,09,... 000000000000, 0000 XOO

00000000. 7 =Yp_ 0k 0=0000,

oo
X;=n < 1, <t<mp000,0 X;:= anmﬂﬂ)(t) = max{n; m, < t},

n=0

goopooooobo -oooboooooo.

000000000000.00,(Xy)»>o0 A\-000000000,000000000 74,72,...

000.0000 m,m—m,73—7,... 0000000,0000 A0000000.

ggbogobooooboobooboobooaa.

00 330000 n00 XOO0O0 0, 007=>,_,0,0000007(n,A\)000,

ie.,

t
_ 1 n.n—1_-—A\s
P(T<t)—/0 (nfl)!)\ s e Mds.
000 (o,) DOODOOOO,
P(gl +ito, < t) — / )\nefk(31+-~5n)dsl c. dSn
s1+- s, <t

ug=81+---s, (k=1,...,n),00 s=w, 0O000O00OO0O0OO,

t Unp u2
/ N Asitsn)ge oo ds, = / duy, / dty_1 -+ / dug \"e " Mun
s1+-sp, <t 0 0 0

t Up us
= / dun/ dly—_1 - / dugug Ne un
0 0 0

! 1 1 A

' 1 1 A
— ds——— \ngn—1lg=As
‘/O S(n_ 1)' S e
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ugd 3.2000000 0 o 0000 F(n,)\)DDDDDDDDD
P(X;=n) = Plrp <t <Tpt1=Tn~+0nt1)

t
1 — —AS
= /O ds m)\nsn 16 A P(t < s+ 0n+1)

t
_ / ds 1 )\nsnflef)\sef(tfs))\
0 (n—1)!

= e_’\ti)\n t s" s = e_/\t—)\ntn.
(n—=1)!J, n!

oooobooon

P(Tn+1>t+8,Xt:n) = P(Tn+1>t+8,7’n§t<7’n+1)

= P(Th+0nt1 >t+8,7 <t)

t
1 1
= /0 du m)\"un 16 AUP(’U/—‘FO',,-kH_ > t+ S)

t n4n
_ / du 1 A= le— M= Alt+s—u) _ e*/\(t+5)>\7t
o M 1) n!

gogon
(3.1) Pty >t+s|Xe=n)=e = P(r >s).
obooobodnm>1000,00000.
P(Tpgm >t+s| Xe =n) = P(r, > s).
0odm0Om+100000000 mO0O0O00O00O0O0OO,
P(Tpnim <t+ 5 < Tnimt1 | Xt =n) = P(T, < 8 < Typg1) = P(Xs =m).

000000,n>0m>1000,

PXi=nXyys—Xe=m) = PXy=n,Xi1s=n+m)
= PX,=n)PXips=n+m| X, =n)
= P(X:=n)P(Tpam <t+ < Tptmt1 | Xy =n)
= P(X;=n)P(X; =m)

o0 n>0000000000000,

mem
_2\A"s

P(Xt+S—Xt:m):P(XS:m):€ ]
m!

m=00000 P(X44s — X, =m)=e» 00000,000000.00,
Plrp>t+s|Xi=n)=Plrp>t+s |17 <t <7pt1)=0
00,000 (31) 00000,

P(Xips=n|X;=n)=P(1, <t+s5<Tps1 | Xe =n) =e .

20
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ooo,
P(Xt = ’I’L,Xt_;,_s - Xt = 0) = P(Xt = n,XH_s = n)
= P(Xt n)P(Xt_,_s =N | Xt = n)
= P(X;=n)e .

000 n>000000000 P(X;1s—X; =0)=e . 0000000000,0<t; <---<tp
ooo,

P(th = TLO,th - Xto =MN1,... 7th — th71 = nk)
:P(th :Tlo,th:No+n1,...,th:n0+...+nk)
=P(Xy, =n0)P(Xty—ty =115, Xeymtg =11 + -+ 1gp)

gogbooboo,oobooobon.

P(Xto = Ny, th — Xto =MN1,... ,th — th71 = ’n,k)
= P(Xto = nO)P(Xh*to = nl) T P(th*tk 1 nk)

= P<X750 = nO)P(Xh _Xto = nl)"'P(th _th 1= nk)
|

0 3.200000000000000000 10000020000000000000A0
gbo,0000 20000000000000000000.O000O0,O000000000O00A0O
goboboooooooooboobo,ooobobobooooooooboobooboboobogooD, oo
gbooooogoboo

gbooogoooboooooboo,1o00b04000b00000b0O000DO0.

00 340 X,0 A0000000000.00 X, 000000000 10000002
0000000000000000,000000000 p0 1-p0000000. (00000
000000 10000000,0000000000,0000000000000000,0
0000000000000000000000000000.) 0000000 1000000
0000000000 Y, 000 1I0000000000000000 Z 000000000
0000 A, AM(1—p) 00000000000 DOO00.

000 X, =Y+, 00000,X,=n+k000000,Y;=k0n+k00,k0000
ggboo pbobodgboobgoooab

k
PY,=kZ =n|X,=n+k)=PY,=k| X, =n+k) = ("+ )pk(lp)n.

k
oooo
P(Yi=kZ,=n) = P(Yi=kZi=n|Xi=n+kPX,=n+k)
n+k\ 4 e (AR
= 1—
(k )p( e

ot (Apt)* o~ A(1-p)t (A1 - P)t)"'

k! n!
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033 000n000npooooa.

oobobodn>0000000

Capt Opt)®
P(Y, = k) = et 2P0 Z!> .

O0O0 k>0000000

e A=t

P(Z; =n) o

O00oOo 3000000
P(Y: =k, Z = n) = P(Y; = k)P(Z, = n).

0000Y,Z 0000,0000 AWwA(l-p)0000000000.00Y,-Y,00000,
oooooooo,

P(Yt-&-s_Ys:k)

ZP(YH_S —Y,=k| Xpys — Xs =n+k)P(Xigs — Xs =n+k)
n>0
n+ k) k o —a (A)"TE
= pr(l—p)le M ——s
> (' =
k
e—/\pt ()‘pt)

k!
000 P(Yies — Y, =k)=P(Y,=k). 00000000000,

(32) P(YS :khY;erS_Y; = ko, Zs :nthJrs_Zs :’I’Lg)
— P(Y, = k1) P(Yis — Ys = k) P(Ze = 00)P(Ziss — Zo = o)

0000, ({Xs =k +n1,Xeys— X, =ko+n} 0000000,00000000000)00
00000 (Y%),(Z)00000000000000,(Y,)0 Ap-0000000, (Z)0 A1-p)-
0000000000.0000000,

(3.3) P(Ys=k1,Yys = k1 + ko, Zg =11, Zyps = 01 +n2)
= P(Ys = klvyrtJrs =k + kZ)P(Zs = nlaZtJrs =N +n2)

0000000000 {Y,,Y,} 0 {Z, Zex} 0000,00000 0<t; <to <+ <t OO
0,{%,,....,Y;,}0{Z,,...,2,}000000000000. 00000000000 (Y),(Z)
ooooooooo. n

0 34000000000 (3.2)000,0000 (3.3)000.

3.3 000000000000 (Continuous-time Random Walk)

00000 10000000000,10000 (p)jes 0000,00 ieS00i+400
0p, 00000000000 (X,)»000000000000000D0.

0000000000D0000 (X 0,00000 (p;) 000000000000000
(Ya)n>o 000000000000 100000000 (S,) 0000 X,:=Ys, 000000
oo.

oooo (Y, D0 (s,) 000000000, (X,) 00000000000000000000,
03200,0000000000000.
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34 000O0O0O0O0O0OOOOOOOO (Continuous-time Markov Chain &
Transition Probability)

0000 SO0000o00o0b0o0o0o0bon (Xy)w»0OOOOODODOOOOO0OD0OO0OO0OO000
000,00000.00,0000 p(4,5) 0000000000000 (Y, OOOOODOO
1-0000000 (Sy)se 0000, X, :=Ys, 000000,

$,62>0,4,7,ky, €5 (0<u,<s) (0<4y) 000,

P(Xt+s :j | X :i)Xug = kuz (ESEO)) = P(Xt :j | Xo :7'> = Qt(ivj)'

000000000 ¢(,j)0 YV, 0 n00000 pn(i,j)DDDD,DDDDDDDD.

=Y e D,

n>0

[X;:=Y,, 000000000D0O0DO0OO0]000000,000000 ¢(i,j) 000,000
000000 ¢=10000000.000uwu<s,{<nO00.00

. =1 X, =k ] Xs =1 ..
(3.4) P(Xt-i-s:] ‘ S.=n’ S, _€> P<Xt+s—] ‘ S :n)ZQt(ZaJ)

ooo. (Y,) 0 (S) 0000, (Y,) 000000, (S,) 00000000ooon

P(Xt-g-sJ‘S =n’ 9, :K)
X, =k,
= ZP(Xt+s—jv‘S’t+s_n+m’ S =n’ S _€>

m>0

= ZP<Yn+m—.]aSt+S Ss —m‘ Sn:; ?:Z)

m>0
ZP(Yn+m:jaYn:i7Y€:k) (St+e—S —mPSg TL,SHZZ)
P(Y, =4,Yy = k)P(Ss =n, Sy = 0)

m>0

= Y PYpym=j|Yn =4,V =k)P(Spys — Se =m)

m>0

= > P(Yi=j|Yo=1)P(Si =m)=G(i,]).

m>0

oo,000000

P(Xpps=j | Xo=i,S=n) = Y PXiys=5Sse—Se=m|X,=1i,5 =n)
m>0
P(Yn+m = j,Yn = i)P(St_;'_s — Ss = m)P(Sg = n)
P(Y, =i)P(Ss = n)

m>0
= Z P(Ynim =71 Yn =19)P(St =m) = q(i, ).
m>0

0000 34)00000.0000 ¢(G,j)0 ¢<nD0,keS, u<s000000,000
(<n000000000000000000,0000000000000000000 (00
0000). 0000000000000000000.

P(Xt+s :.7|Xs :iaXu:k):P(Xt-i-s :j|Xs :7') :lﬂ(l,j)
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ggbooobooobgoon.

Qt(ihj) = P(Xt =J | Xo = l) = évt(lvj)

goboooooobooobooooooboboOooo,bboooa.

0350000 {B,})000000,00 AODD,000<¢<10000,P(A|By)=q("n>1)
0000000000.0000 PA|UB,)=¢0000000000.

00 3.5 (000000-0000000000) O gqgs(i,j) = thlkqsk‘]).

kesS
ooo
0O0] = Y PXy=k|Xo=i)P(Xepe=j| X, =k)
keSs
= Y P(Xy=k|Xo=i)P(Xpss =j | X; =k, Xo =)
kes
= ZP(XHs:jaXt:]%Xo:i)
kes P(Xo =1)
P(Xi1s =7, X0 =1) . .
= =P(Xpys =7 | Xo=14)=[00
P(Xy =1i) (Xt JlXo=1)=] ]

00 360Y,0 %, 00000 A, 000 i (i€eZ, 00000000000000,0
000000000 Xy =Y, 000000000000000. (00 po=0,A>0,00 i>1
oo /Ji>0.)

qn(i,i+1) = Nh + o(h)
qn(i,i — 1) = p;h +o(h) (i > 1)
qn(i,1) =1 — (N + pi)h + o(h)
qo(za.]) 6

oo ,llm%)qh(z i)=1.00 ¢,(0,-1)=0,¢,(0,00=1000.
—

0000000 gu(,/)0Y, 0 n00000 p,e(s,j) 0000,t—0000

. _pht o
Qh('L,]) = Ze hmpn(l,j)

n>0
= e " (6 + hp(i,§) + O(h?))
= 0i; + hp(i, j) + O(K?).
OoOod
pliyi+1) =X, 0 p(iyi — 1) = i, , 0 p(i,i) = 1 — (A + 1)
O0ooooooogod. [ |

000 (Xy) O SO0000U0oo00oUoooUoooooO,DoooO0 f:S—=RO00,

G1(0) = lim 5 (EIF(X)] - () = Jim & BYF(X,) ~ F(Xo)]

h—0 h—0 h

0000 GO (X,) 000000 (generator) 000. 00, B[] =E[ | Xo=4 000.
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00 3.3 00000000O0op0oooo,0ooD f:Zy—-RO0O0O,

Gf(i) =Xfl+1) +pf(E—1) — (N 4+ ) £ (4)
goo. oono .
E(f(X) — f(Xo)] = / E(GF(X.))ds.

ooo0r>000000000,

E'[f(Xn)] = fi+D)gu(i,i+1)+ f(i —)an(iyi— 1) + f(i)qn(i, i) + o(h)
= f@)+hNf(@+1) 4+ pif(i —1) — (N + pi) f(i)] 4+ o(h)

0000 Gfv) D0O0O0.000O0OO0O0OOoOOoOoOO,

B~ 0] = [ fim B (Xon) - ()

h—0

_ /0 lim & B [B¥[7(X3) ~ F(Xo)]] ds

h—0
N /E |:}lli£>%f1LEXS[f(Xh)_f(X0” ds

0
t
= E'[Gf(X,)]ds.
0
00,00 lim,0 0 EPO0000COOCO, fO0000 O0O<A\,u<100,0000000
000o0o0oooooo. |

00000 fG)OD0O0O0O0 rrate\; O f(i+1) 0, rateu; O f(i—1) O, rate 1 — A, — p; O
000o00000000Uo0. 0000000000 GoOUoO0,000D000 (XyOoooo
00000.00 GO (Xy) D0o0000ooo0. 0oo00o0ooooogooo sogoo
gogoob,bbodooobobobobobooooooobooD.
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4 [00000C0OCDO-000000 (Continuous-time Galton-

Watson Processes)

A>0000.0000000000O0,0000,000 MOOOODOOD p, 000000
k>0000000000 (k=000000000O0). 000O0O0UO0ODOOO,0000000
0,000000000000000. 000000 +000000000 Zz000,000000
ooo0-00ooooood.

000 {X,} 00000 (p) D0OODOODOO0OO0OD-0000ODOOOO,{S}0000000
0000000000, Z,:=Xs, DO0OOOODOOO.

oooooooooo

m:szpk

k>1

ooo.
0041 00<py+p1<1000.
P"t>0,Z,>1)>0 < m > 1.
00t>0000,E[Z|Zy=1=emDt000.

go0ooooooooooooooobooob, ooboooboo0. booooooobo.
By :=E[x| Zo=1000, Z = Xs, 0 Ei[X,]=m" 00,

E\[Z) = ZElztwhn}Pl (Sy =n) = ZEl X, | Sy =n]P(S; =n)

n=0 n=0

_ ZEl St — n Zmn —At )\t _ ek(m—l)t
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5 0000000000 (Branching Random Walk)

0000000000000 00000,1000000000,0000000000,00
000000000000000,00000000000000000000000.

SO00000D000000D0D000D,0000 10 0eS000,0000.A>0000
000000,2z€8t>0000. 00 {p(z,y)}lyes 0 SOOOOODODOOODODODOOO
00, ie, plz,y) >0, 3, plz,y) =1. 00,0 200 p(zr,y) >000 y0OOOOODO, e,
Vo e S, #{y € S;p(x,y) > 0} < .

00 5100000000000 {6 =b}]0000 20 10000000,0000
000000 (0o0b0)e*000.00000DO0O0OO,0000,000000000 ™Y 0O
gdgby0OO0O0D0 1000.0000000 e*0000.OD00DO0OO0DOODO,bO0000
g,00b0o0bobobo.0obooboobotobooo bf’ADDD.DDDDDDDDDDDD
go,0o0ooo.

Po® >t)=e"t, P(c™¥ >t) = e PPV

00 p(z,y) =000 ¢™¥ =00 000.00,p(z,y)=000 200 yO0OOOODO0O0OO0.
0000000000000000000000000,00000 7:=min{e®,0%¥;ye S} O
00 1+Y,Ap(z,y) =1+A0000000. r=0"00 20000 1000,7=0" (Fy€S)
00 z0000 yOOOO 1000.000000000000000 p 0, 7%= min,o™Y 0
000 A0000D000,

o0

1

fOZP(TZO'I)ZP(O'I<TI)=/ Tn

P(s < 1%)e %ds = / e e ds =
0 0

0000020 10000000000000000000000¢000000000
00000000. 006 Ny) 0O 9 000 y 000000000000 b = {67 (¥)}yes
oooooo, =y, y) 0000000000, 00000 0eS000,

pN) =P (> 0,160 = 1)
go0o.o0oobo 200b00000o0ooooa.

A :=1inf {A > 0;p(A) >0}, Ag:=inf {)\ > 0; P (limsupbto’)‘(O) > 1) > O} .

t—o0

0000 0< XA <Ay <o00000 (limsup, . b2 (0)>100 Y¢>0,p0* >1000).

00 5.1 00000 SO000eSO000000000000000 {000,323y e o,1];

1

AM=1, do=—-—
1 ) 2 1_7

O0,vy=100 X=00. 00 y>000 0000 2000000000.

0000 v€(0,1]0000000000DO0OO p(z,y) 00, 00000000000000.
gbooooooboooooobooooo.

00 5.1 (00000 (super additive theorem)) O [0,00) 000000 f(¢t) DOOO
ggooooogd,ie.,

f(t+s) = f(t)+ f(s).
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afufuls
7 lim f()—Sup L £(t) € (o0, 00].

t—oo t t>0t
O000s>000000.¢t>s000,¢t0 sO000000 k0000 ¢t=~Fksis+ (t—ksys)
obo00 o0<t-kys<sO0OO0O0. 0000O00O0DOOO0OODOOO,

f(t) Z ks,tf(s) + f(t - ks,ts)'

000 m(s):=inf,«, f(r) 0000, f0000000000,

%f(t) > %ks,tf(s) + %m(s).

00 0<t—ksys<sO0O00 st000,t—=000000

o<l B 1 onpp ke !
S t S
goooo,
li 'flf(t)>1f()(v >0).00000l 'flf(t)> 1f()
iminf — —f(s s . im inf — sup — f(s).
t—oo t - s t—oo _s>%)8
oag,
1
lim sup — f( ) < sup —f(s).
t—o00 s>0 S
goooooo,0o000o0o0ooo. ]

P(z,y) 0 1-000000,200 y000O p(z,y) 0000000000000 20000
0,00¢0y00000000000

Ze 'pn-ry

n>0

ooo.oooo P(O,0)0t>0000,000,000000000-000000O0DOOO

Pi14(0,0) = Y P(0,y)Ps(y, 0) > P,(0,0)P,(0,0)
yeS

000.0000 f(t)=logP(0,0) 000000 (super additive ft.) 00 . 00000000
oooo,

? lim ~ long(O 0) fsupflogPt(O 0)=— (y>0000O).
t—roo t>0 t

00 P(0,0)>et00,v<1,00,0<~<1.00~>000 P(0,0)00000000
0000,0000000000000000 200000000000000.

[M=1000]

Z,=p° 000000000-000000000.00000000 (1+A-000000,
00 pp=1/1+A)0000,00 p,=XA/(1+A) 0000 1000,00,0000 2000
0.0000010000000000000 mO

2X

=T
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gogo.bodb-oboboob m<100b00 100000bo0,m>100000000
ooooboo.ood

A<1l <= m<1 <<= p(N\)=0,000,0\x>1 < m>1 < p(A) >0.

oooon=1000. [ ]
A 0000000000 20000000000.

00 5.1 O EbPY0)] = ePDipy,(z,0).

000 m(t,z) := EBF(0)) 000, m(t+h,2)000,000000000 7 =min{c”, c™¥;y €
Sk (1+N-0000000O,0,A)|00000O0O,000000D0O000ODOOOO,0000.

m(t+h,a) = Ebf,(0);0" =7 <hl+ Y E[bf,,,(0);0™ =1 < h] + E[b},,(0); 7 > h]
= Y E[b{(0)+bY onp(aw:es: 7 < h) + E[bF(0)|P(r > h)
yes
= i{m(t,w) +m(t,y)}P(e™ < h) + m(t,x)P(r > h) + o(h)
= yze:{m(t, x) +m(t,y) (1 — e @V (e, z)e” TN 4 o(h)
yes
= Ze;g{m(t, z) +m(t, )} p(x, y)h 4+ m(t, z){1 — (1 + Ak} + o(h).
ooon
Oym(t,x) = %:S{m(ta ) +m(t,y)Ip(z,y) — m(t,z)(1+ )
= yzegkp(w, y)m(t,y) — m(t, x).
oo

=> e ,pnxO)DDDpnxO > p(z,y)pn-1(y,0)

n>0 yeSs
noo,

81&13151'0 prypty7 ) Pt(xao)
yeS

00000,0000000 Py(xr,0)=6,0000,0000000000,00 m(t,2) OO0
oooooo m(0,z)=6,0000,00000000.

m(t,z) = e* VI Py, (z,0)

00 5.2 037 > 0; EBY*(0)] > 1 00 limsup P(bY*(0) > 1) > 0.

t—o00

000 =62 000000000000 60, %, :=b0,(0)0000 (00000000
1000)00000-00000000000000000000.¢<7000 b =0200,
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t=T0 00000000000,000000000 @DDDDD.DD,t:kTm oono
0000 te[kT,(k+1)T) 000 b W Ooooooooo,t=(k+1)7T 0,00 000000
0ooO0oo. o000 Zozl,Zn_bST(O)[IDDD,

n—ZYnka k—)Zl—bO(O) oo.

D0000000000-0000000,0000 EZ; = ERS(0)] = EpQ(0)] >1. 00,00
0000 ¢:=P(Z,>1,"2>0)>0. 000 bQ(z) <bP(x) OO,
0<c=P(Z,>1,"n>0) < P(bOr(0) > 1,"n > 0) <limsup P(bY(0) > 1).

t—o00

|
00 5.1 [Aa=1/(1—~)] 000
(1)y<1000 A <1/(1—-4)000%A>1/(1-~)000.A>XA000000. (000
0 P(lim sup b2(0)>1)>0000000.) e >0A>1/(1—y—¢). 00~ 000

t—o0

lim — logPt(O O) =sup — logPt(O 0) =
t—oo t>0 ¢

00 3T > 1;1/(AT)log P\r(0,0) > —y—e. D:=X—y—¢e+1)-1>0000,000000
Eb21(0)] = eADTP1(0,0)>ePT > 1. 000000000000
0 < limsup P(b°>"*(0) > 1) < P(limsup b (0) > 1).
t—o00 t—o00
0000 A> X 000 A <1/(1—7).

0000000~00000, Py(0,0)<e™ 0,000 EBP0)] =ePDiPy(z,0) 0
00 keNOOO, EpPMNO) <. 00,C:=A-1-My=A1-7)-1(C>-1000).

(2)y<1000,1/1—-) <X 000.(000 (1)00 A=1/(1-4)000).

A< 1/(1—9) 000, C < 0. A = {2N0) > 1} 000, P(4) < EPPMNO) <
e 0 3, e% < 0o 00, Borel-Cantelli 000000000, P(limsupAg) = 0. 000
0000000000 P(liinsupb?’)‘(O) >1)=00000. 00, P(liminf A) = 1, ie,

—00
PCN;Yk > N,bQMO) = 0) = 100, 00 P(limsupb?(0) > 1) > 00000000

t—o00

Iy € (k,k+1);b0M0)>100 k>NOODOOO,00000 0000000000
k+100000000000.000,000,0000000000000,000000000
010000000000000 P(e>1)=e10,00000, Borel-Cantelli D0 20000,
00 10,00 100000000000000000.000000000000000000.
000 P(limsupb?*(0)>1)=0000000000. 000 A<XA000,1/1—79)<2X
ooo.

(3)y=100 C=-10,0000000YA>0000,A<X, 00, X =o0. n

00 5.3 (Borel-Cantelli 00 2 00) O
A, e FOODO, Y P(4,) =00, {A,} 00000 P(limsupA,) = 1

000 {A°} 0000000000 (-»0000),000 m<nO0O0,

n

() a0 = [T Py = T = |- 3 pin
k=m k=m

k=m k=m
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0000000 1-e*<u(v>0)0000.n—occ000,000 > P(Ay)=0c000000

P([) A5) = lim P( ) 4% < lim_exp l > P(Ay)| =0.
k=m

k=m k=m

(o)
oooobooooooboo,oon mDDD,P(U Ap)=1.m—oco0Q000O

k=m
U A | ﬂ U A, = limsup A
k>m m>1k>m

ooQg,
P(limsup Ay) = lim P(| ] A;) =1.

m—00
k>m

00 {4,};_, 00000 {A}r_, 000000,
00 20000000.

051(1000000000000)0S=200,p(,2+1)=p,pla,a—1)=1-p=:q
Ooooooo.0o0000ooooO0ooDoo000. 000 000000000 MpO
000 z+10,000 NOOOD z—-10000000,000000000 100000.
p2,(0,0) 0 O0OO0D0O0O0 1000000000O0O00O0O0OD 2n000000O0OOOO
P2n(0,0) ~ (4pg)"/y/7n (n — 00) D0DODO,00000000.
(5.1) tli)r&%logpt(O,O):2\/}Tq—1:—7,DDD7D7:1—2\/pT].

000 M=1/1-9)=1/2ypq) 0,00 p=1/200000 vy=00, A =1=X000.
000 p#£¢qO00000 2000000000.

(5.1) 0000 p2,(0,0) ~ (4pg)™//7n (n — 00) 00,0 < 3C; <1< Cy < 00;
C1(4pg)" /vmn < p2n(0,0) < Ca(4pg)™ /v/mnD (n > 1).

oo anH(O,O) =000

_ t
P(0,0)=) e (2n),p2n(o,0)
n>0
0,0000000
tQTL
P(0,0) £ (143 s Caldp)” v/
n>1 ’
t2n
< et [ 14 ey G )'(2\/;971)2" 0 (1/yam<1000)
n).
n>1
< Che HHAVRI — ot CIH2VPI0 (0, >1000)
000000
f2n+1 et — et

t

e
- > —0ift>1
; >
& @n+1)! 2 4
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0000 C3=0/y/a<100,yn<2n+102/pg<100¢t>100000
P(0,0) > e 1+Z (4pa)" /v/mn

> et §+072 e S(2y/p7)* !
= t 3tn @2n+1)!

S ety 2t (2P
- (2n + 1)!
n>0
1

> Ce,@et(””\@).

00O
O3$et(71+2\/171) < P,(0,0) < CyetT2VAT — Cpet(-1+20/70).

0oOooDO00DO0ODOoDOoo. m

0 52(000000000000000000)0d>300,S=T;(=T¢YH)0000
00000 d00000000000000000000000000. (d=2000 Ty=2!
0000000,000d-10000000,T¢'0000000000000)000000
+r0d00000000 yO000,p(z,y)=1/d000. 0000 1000000000000
00 R:=2Vd—1/d 000, ps,(0,0) ~CR*™n™3/2 (n - 00) 00000000000, OO
oooooo.

tlir&%logpt(0,0):Rflszy,DDD,D’yzlfR.

0000 A=1/1-9)=1/R=d/(2y/d—1)0,d>300 \p>1=)\000,200000
ooo.

6 0D000D0O0O0O0O0 (Contact Process)

gbooooooooooo,bo0obo0oob,b0oo0boo0oobooo,oboo0oboooboooon
g,gooobooooooo,obooboooobooboooboob.boo,obooboo
gboobo,000oooobobobobooboooboooboo,boboboboboobooo,ooo
gooboooboooooooooDb. boboooooooobooooboOobooooo.d>200,
S=T,=T¢10000000000000000dOO0000O0OOOOOOODOOO0. O
O0d=200 §=Z000.0e€Ty;,0100000.

{nf:nf’)‘}lj rely, 0000000000000 0O0O00. OOoOooobooooDboooo
goo0,0000oo01100000,00000000O0DO00000 A>0000.00100
0000000 1000000000000000. 00,P@®>t)=et0,y0 20000
00 P(e™ >t)=e 00,00 y00O0O000000,000000000000. (00O
520,A 0 dA0000,1 0000000000 10000000000O0O.)

obooooboooooooboooon

A= inf{ P(InP > 1,7t > 0) > 0}
Xy = inf{\; P(limsupn>*(0) > 1) > 0}
t—o00

obooo.ooooooooon.
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00 610 7T;=T'00 0eT,00000000000000 {x°>*} 0000000
0,000000.

1 1
- << —
g=Ms

1
i—2 Moyt

000000000000000000000000000 A =1/d X =1/2/d—1)00
D.(DDDD /\/dDD AO0O000O0DOOO0DOODOOODOO,0 52000 4000000000
0o.)

gbbooooooobooboooooooooboboooooooooo, boooooooon
0.(00A>N00A>1/d00, N >1/d, 000 A > 1/(2Vd—1).)

A1 DDDDDDDDDDD,DDDDDDDDDDDDDDDDDDDDD@D,DDDDD
goooo-ocobooboo0oooooooooo.dobooooooooooo a—10000,
0\NO,0000000,00000100000000,00,000000000000O 20
gooooooo. oooo @SUS’AD,ODD kOOODOODODODOODOOOoD Zz, OO0,
ie, Zo=1, Z,=m(Sk) (z €S, &% |2|=k) 0000, {Z)00000-000000000.
Jooopoooooogoogoo

oo A > A A
P(o™ <o%) = [ dshe™P(s<o®) = [ dshe e ® ="
(o o®) /0 sAe (s <ad®) /0 she e T
0000000, EZy = (d—1)A/(14)).
A 1
-1 >1 —
(d )1+>\> <:>/\>d_2
000000, A>1/(d—2)00
0<P(Z,>1,"k>0) < P(In°* > 1, > 0).
000 A>X\. 000 A <1/(d—2). u

00 6.1 0000 Liggett [7] O Stacey [10]000,0000000,d>300 A, <A, 00
O00000.00 »000000000000000.00000d0Od+10000, A = A2(d)
inTd =Ty, (d>1) 000000000000 Ty C Tayy OO0, Ag(1) > Aa(2) > Aa(3) > -
00D00. 0000000 A(d) >1/(2Vd) 000, Liggett 000, d=1 (T' =T, = Z') O
00,A(1)<2([5,000000 M\(1)<1.942,[6) D000000. 000,00000000
00000 X(1)=1639000000000000000.

00 d>200 M\d) < (1) A{l/(Vd—1)} 0000000 8. 000000000
(WV2-1) = Vv2+1>1942 > 1/(V3-1) = (V3+1)/2 = 1.3660--- 00, d =200
000o0Doo0. 00 1<d<500,00,000000000000(@OO0O0d=10
Grillenberger-Ziezold [4], d = 2 O Liggett (7], d > 3 O Pemantle [9])

Lrrel

1.539 < Xy = Ay < 1.942,

0.609 < Xy < 1.942,

0.425 < X\p < (V3 +1)/2 = 1.3660254 - - - ,
0.354 < Xy <1,

0.309 < Xo < (VB +1)/4=0.809169 - - .

000.000d0000000,0000000000000000000000000, Ay(d) ~
1/(2v/d) (d - c0) 0O0DODOO0ODODO.
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oboooboooo d%ool]l]l],\/;l)\g(d)%l/QDDDD d>20000 000000
gooooobobo,0d0d=3000 ¢d=2000000000000000000000DCO

goooo.

Liggett 0 Xo(d) < 1/(vd—1)0000000000000000CO00O0.
00000,00 I=/(abl,(a,b],(a,b),la,b) 000, “xecn)’ 0 “zensfor3sc”»000.
00,000000000000000000000,00000000 20000000000
00 x000000,0000 2000000000000 2000000000000000
oo.

0000000000, {z,22...,2q,24.1y 0 000000000000, O 2,0 OO0
00 P(r°<¢®)=X/(A+1)0,000000). 0000000000 {000 {9} 00
00000 24, 00000000000000000000.000{&}@=1,...,d)0 z
00 0000000000000000.000{¢}000000.,>2000000 >0
0000 r>1000,t>r00,000000000000.

ft;n) == Po(O€ O([t, t + nr)))
d
2 ZPO (zi € €2 for some s € [t,t + (n — 1)r) and O € £°((s,t + nr)))

i=1

d
= Y Po(x; €€9(e,r) Pr, (2 €O(lt — et — £ + (n— 1)r)))

B (0€€0((0.0))

- AR P, (x; € €% ([t —e,t 1
B (m) 2 v (@i € €7 ([t =t —e+ (n = 1)r))

. ALY ,

00,vd\/(A+1)>100,00000 ¢>00000 r>1000,00000.
ftn) = f(t —gn—1).

000,A>1/(Vd-1)00,

P3(limsupn,(0) =1) > Pi(limsup&l(0) = 1)
t—o0 t—o0
> limsup f(r+ ke;k+1) > f(r;1) > e " > 0.

k—o0

000 \(d) <1/(Vd—1)000.
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7T 0Od

oboobo 100b00bo0ob0obooboboocobooboooooboon.

71 ODOO00OOO0DOO0

010000000000000000000000DO0. 0000 200000000000
oo0oo.

0000000 X,,X0000,%>0,P(|X,—X|>e)—=0(n—o00)000, X, = X in
pr. 000, X, 0 XO0OOoOoooooo. oo PX,—»X)=1000, X, - X, P-as. O
00,X,0 XO0O0O0OOOOOO. (as. O almost surely O 0)

0710000 =00007,ie,X,—X,Pas. —= X, —>Xinpr. 000O.

(000 0 P(X, > X)=1 <

iU r]ﬁxn—xy<;} =1 < P N {Xﬁ—X’zi} =0

k>1N>1n>N

1 1

v > 1 — > — = — > — =

= k_l,}\}gr(l)oP | | {|Xn X| > k} P {|Xn X| > k} 0
n>N N>1n>N

1 1
v . . B
— kZl,I\}gI})OP(|XN—X|Zk)§ lim P | | l{X"_XZk} =0

0000000000 (00,1/k0 e>000000000.0000)

o0 71 0000,000000000000.00,0000D0D0DO0O0OODODOOOO
0o.gbo,00o0obooboo,booobooboobooboobooooboboooobooobon.

O 7.2 DDDDIZIIZIDDDDDDIZIIZIIZIDDDDDDD,i.e.,”Xn%Xinpr.:a{nk};Xnk%X
a.s.“000.
1

2k.[l[]

1
(DDDDDDDDDDDDD,DDDD(DDDmH&%LP<XM—XyZ%>§

1
00000000 Borel-Cantelli 0000000 P | [ r]@xwxp<%} =1.000
N>1k>N
Dooooo.)

gbooooboooobooboooo.oo,00,000b00000.

00 71 (000000 (Strong Law of Large Numbers)) 0 X;,X,,... 000000
00000000 EX,=m000000 v:=sup,V(X,)<ocoOOOOUOOOOODOOODOO
goon

LI
P<nll)rr;onZXk—m> =1.

k=1
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